T0XKR "7 'O R, P12 702

— MR ARRT K27 Y9 1T RIMAR PPAYT P90 TIIVION
It is needed; for it would have entered our minds to say, it is
applicable, only when he sent it.

Overview

The X3 (seemingly') concludes that we derive both 3 1w from the word
mow (931 through MW 931 °nown, and 1w through nowR nnaa 7). The word
T2 teaches us that 737 W are 21 even if X?nn X7IX. Initially when we
derived 1w from 7¥23 through the 105 of %937 92 9wK), the X3 asked why
it is unnecessary for the Xn>12 to cite the P0D of Y27 W2 WD, to prove
that 7v21 refers to jw. It is obvious that 7¥21 refers to v, for it cannot refer to
177 (which is derived from 13> °2) or 231 (which is derived from r%w1). 190N
asks that this same question can be asked now; there is no need for =WK>
!

nooIn asks:
— 990 79994 NN NAYN SWPIN 9IRN ON)
And if you will say; you can ask now, what the X3 asked previously;
which is -
— NP RN 9T IRY RIT HRAT W20 MWRD RIAMT 2NDT RAYY
The reason we derive ¥ (from 7v21) is because the ‘merciful one’ wrote
the P09 of ®%am =¥as "wN> (which indicates the connection between ¥ and
7v211), but if it would not have been so (if there was no such P09 of W2
5537 7v2°) then we would not know Jw; but this cannot be, for what else can
v be referring to (certainly not 737, since it is derived from n9w1). The same
question should be asked now; why is the 109 of qv2> WD necessaury;2 we know that v

is 21 from the P09 of 02 MYWKR NMMAa . The 2109 of 9937 Y2’ WKD is unnecessary!
— 9595 IYY XYY XNV

For now we cannot answer as we previously answered. Previously the X123
answered that if it were not for the 105 of 7w2> IWXI; we would assume that both 17w
and 7y refer to two types of 937; mowy when *m>w now, and w21 when it is X21n R7IX.
However now that we know v from nu1 (and not [necessarily] from qv23), the P05 of
qY2’ WX is not necessary3.

N1B0IN answers:
5931 P39 TYNINM 15PN NI NTIWI NI Y 1INT N2 9INP 5917 91919 U

! See, however, 9"np "7 "wA.

* The intention of the question is why it is necessary for the Xin of the Xn*92 to cite this 105 (but not why is
it necessary for the X°21 to say it).

? It would be unreasonable to assume that 192> wX3 is required to inform us that the 217 of X771 K91X,
which we derive from w2, refers to Jw as well; for since n>w1 refers to both %371 7w, there is no reason to
assume that 7y21 refers to only one of them.
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And one can say; that this is what the Xn>92 meant; that even if the word
mowY was not written (so we could not derive Jw from n7w through 7un
n2wR M), we would have derived @ from =223 9@wR> and applied it to “va1.

$(N,ND 97 272) TYI INTIN W92 NIIN NI INN )
And something similar to this can be found in the beginning of 78 P75

.’

Summary
According to the X1pon, the P10 of 7w2* AWKRD is unnecessary for teaching us

the 21’11 of Ww. The Xn>92 required it (only) if 77w would not have been
written.

Thinking it over

1. Mmoo is assuming that both 937 W are derived from n%w; and w2
teaches us the 2117 even if X221 X218, How then do we know that 2371 W are
21 by R17p X201 89? The word w2 refers to both %311 W (to teach us XR?IR
X2°mn), and w2 indicates K17 X991 by both 231w’

2. mooI1n answers that when the Xn*72 mentions the P09 of W2 WRD, it
means that this P109 is necessary if n%w1 was not written. However, how did
the X3 ask why 1s 7¥2° 9WRD necessary to teach us jw, for Y21 cannot mean
237, since 931 is derived from nowY; but now we are assuming that 17721 is not
Writt%n, therefore if not for 72> WX, we may think that 9v21 is referring to
277!

* The (1,72 [7m2] X7P*1) P09 states: T29X JNN K2 N°212) Twia 12 100 K2 903 nK; it would seem that 703 and
99X have two separate 1?2 (721 for 703 and n°27n for 7518). The &n»12 derives from a mw 7713 that for
either one there are two 1%2. The X713 states that the w"Ta is not necessary, for we read the 09 in this
manner: 1’27127 w32 XY 100 YR 7905 nX (which makes two XY for 102) and 729K 00 X N°27121 w3 (two
for 23X%). Why then, asks the X3 does the 8012 require a mw 7713?! In case we would not have this p1os!
The same applies here. In truth it was not necessary for the Xn>12 to cite the P109 of 97377 w2’ WK, for we
derive Jw from n>WwX N2 w1 (which connects it to >wY). The Xn>>1a states that if there were no 72w and
we could not derive 1 from 9w, we could nevertheless derive it from 7y, through 737 qv2° WK,

> See 0" .

% See 7"nN.

2

TosfosInEnglish.com



